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A school of two hundred and fifty six
students buy five sweets each. How many
sweets do they buy altogether?
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Four hundred and thirty six chickens on a
farm lay four eggs a week each. How many
eggs do all of the chickens lay in total?
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A school buys four boxes of pencils. Each
box has four hundred and sixty three
pencils inside. How many pencils did the
school buy altogether?
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In Primark, coloured t-shirts cost six
pounds each. A school needs two hundred
and sixteen t-shirts for PE. How much
money will this cost altogether?
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